Manuals+ — User Manuals Simplified.

@SYNERGEE
ADJUSTABLE |
INCLINE ?
BENCH o

SYNERGEE Adjustable Incline Bench Installation Guide

Home » SYNERGEE » SYNERGEE Adjustable Incline Bench Installation Guide ™

Contents
1 SYNERGEE Adjustable Incline
Bench
2 PARTS LIST
3 HARDWARE SIZING CHART
4 ASSEMBLY
5 FAQs
6 Documents / Resources
6.1 References

@SYNERGEE

SYNERGEE Adjustable Incline Bench


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/synergee
https://manuals.plus/synergee/adjustable-incline-bench-manual.pdf
https://manuals.plus/#synergee_adjustable_incline_bench
https://manuals.plus/#parts_list
https://manuals.plus/#hardware_sizing_chart
https://manuals.plus/#assembly
https://manuals.plus/#faqs
https://manuals.plus/#documents_resources
https://manuals.plus/#references

PARTS LIST
1 ary

4 - QTY

02-09-01 02-09-04
6. QTY Q1Y
;X1 x1 — x2
/o /
ll:l =
. 4 a
02-09-06 02-09-10
QTY Qry E. QTyY
x12 x1 x12
M8x20 FULLY M10x20 FULLY M10x55 FULLY MI10x100 PARTIALLY
THREADED BOLT THREADED BOLT THREADED BOLT THREADED BOLT M8 WASHER
x14 x6 x1
M10 WASHER MI10 CAP NUT MI10 NUT




HARDWARE SIZING CHART

M8x20
BOLT

M10x20
BOLT

II| I||'|I| il I|
I|I "|| ||||"||'||l| I |I IIII '

M10x55
BOLT

M10x100 —
BOLT

ASSEMBLY

Step-1

STEP PART GUIDE

# PART NAME QTyY
1. 02-09-01 1

2. 02-09-02 1

3. 02-09-03 1

4. 02-09-04 1

B. M10X20 FULLY THREADED BOLT 2

C. M10X55 FULLY THREADED BOLT 4

F. M10 WASHER 12
G. M10 CAP NUT 6




-

1
Step-2

STEP PART GUIDE

# PART NAME QTY
5. 02-09-05 1

6. 02-09-06 1

7. 02-09-07 1

A. M8x20 FULLY THREADED BOLT 8

E. M8 WASHER 8




(LS

“illlu

ATTENTION

ENSURE THE LOGO IS IN THE TOP LEFT SIDE OF THE SEAT

Step-3

STEP PART GUIDE

QTY

5
O
om
o
(1T}
o
<
LLi
o
T
T
w 2|
= S | I
A89FS
Z o | o <
E|lo | o |82
1215182
a | 8|8 |2 =
# |0 | o | < | W




Step-4

STEP PART GUIDE

QTY

[V e ]
o | Qo
w | w
| =
R
= | =
O | O
o |
wsls
- | 4
< m | m
zZ = | =
= | W | w
£ | | n
< | O |0
o[ < | <
$* I




Step-5

STEP PART GUIDE

# PART NAME QTy
D. M10x100 PARTIALLY THREADED BOLT 1
F. M10 WASHER 2
H. M10 NUT 1




Step-6

STEP PART GUIDE

QTY

PART NAME

02-09-10

10.




FAQs

Q: What should | do if any pieces are missing?

« A: Please contact us immediately at hello@synergeefitness.com or call us at 1.855.217.7136.

Documents / Resources

SYNERGEE Adjustable Incline Bench [pdf] Installation Guide
02-09-01, 02-09-02, 02-09-03, 02-09-04, 02-09-05, 02-09-06, 02-09-07, 02-09-08, 02-09-09, 02
-09-10, Adjustable Incline Bench, Incline Bench, Bench

]
&
=
=

References


mailto:hello@synergeefitness.com
https://manuals.plus/m/661a5f4424ac839d27c3f153ca692f0361684a1220dd814ebe2d101b34f166d5
https://manuals.plus/m/661a5f4424ac839d27c3f153ca692f0361684a1220dd814ebe2d101b34f166d5_optim.pdf

« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manual.tools/?p=16046489#MTA0LjI4LjIwMi4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	SYNERGEE Adjustable Incline Bench Installation Guide
	SYNERGEE Adjustable Incline Bench
	PARTS LIST
	HARDWARE SIZING CHART
	ASSEMBLY
	FAQs
	Documents / Resources
	References



